Version 1: B.mb Catches

class A {
AQ) {3

void ma(int i) throws NegValException {
if(i < 0) {
println("abnormal exec of A.ma");

throw new NegValException("Neg Val: " + i);
}
else {
println("normal exec of A.ma");
}
) ¥ class B {
B() {}

void mb(int i) {
A oa = new A();
try {
oa.ma(i);

println("From B.mb: Calling A.ma did not cause NVE.");

}
catch(NegValException nve) {

println("From B.mb: Calling A.ma caused NVE.");
¥

3 class Tester {
3 main(...) {
int 1i;
B ob = new B();
ob.mb(i);

throws an
exception

catches an
exception

Method A.ma causes an error and an
NegValException object is thrown

N

Method B.mb chooses to handle the error
right away using a try-catch block.

Method Tester.main method
need not worry about this error.

method call

method call

subject to catch-or-specify req?

println("From Tester.main: After calling B.mb.");
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B B b S ﬁ Method A.ma causes an error and an
ve rs'on 2 = 'm PeC| esl_ NegValException object is thrown
n . . throwts an method call
class A T 1' C + h exception
A() {} es er.maln a c es Method B.mb chooses not to handle the
forwards/ error and propagates it
propagates to its caller (i.e., Tester.main).
void ma(int i) throws NegValException { an exception :t>
if(i <0) { - method call
Method Tester.main method
println("abnormal exec of A.ma"); iﬁg;;;i“ chooses to handle this error, so that
throw new NegValException('Neg Val: " + i); this NegValException is not
} propagated further.
else {
println("normal exec of A.ma"); 1 .
1. In B.mb, is calling oa.ma
) class B { . A
3 BO O subject to catch-or-specify req?
void mb(int i) throws NegValException {
A oa = new A();
oa.ma(i);
printin("From B.mb: Calling A.ma did not cause NVE.");
}
} class Tester { . . Q
il Q2. In Tester.main, is calling B.mb
int i; . .
o o e B subject to catch-or-specify req?
try {
ob.mb(1i);
println("Tester.main: Calling B.mb did not cause NVE.");
+

catch(NegValException nve) {
println("Tester.main: Calling B.mb caused NVE.");
¥
}
¥
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Method A.ma causes an error and an

ve rSion 3 . B.m b S PgCi ﬁ es,_ NegValException object is thrown

throws an method call
5 n . ° exception
class A { Tes.l'e r. m al n S P e Cl es Method B.mb chooses not to handle the
A() {} forwards/ error and propagates it
propagates to its caller (i.e., Tester.main).
. : . . an exception
void ma(int i) throws NegValException { :t) method call
if(i < 0) { Method Tester.main method
;:J;‘;Z':ti/s chooses not to handle the error, so that

println("abnormal exec of A.ma"); this NegValException is propagated

an exception

throw new NegValException('Neg Val: " + i); further (i.e., thrown to console).
lee {
, println("normal exec of A.ma"); @. In B,mb, is Ca"ing oa.ma
) class e e subject to catch-or-specify req?

B() {}

void mb(int i) throws NegValException {
A oa = new A();

oa.ma(i);
println("From B.mb: Calling A.ma did not cause NVE.");
1 . . .
] Q2. In Tester.main, is calling B.mb
class Tester { . A
main(...) throws NegValException { SUbJGCf to Cafch-or-speCIfy req?
int 1i;
B ob = new b();
ob.mb(i);
println("Tester.main: Calling B.mb did not cause NVE.");
}
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Catch-or-Specify Requirement: Call Stack

Q1. Origin of Exception: Cl.ml
c2.m2
C3.m3

Q2. Methods subject to CoS Req:

Q3. Methods free from CoS Req: Ci.mi
le |

Q4. Extreme Case 1 (exception handled earliest): Civ1.Miv1

Q5: Extreme Case 2 (exception never handled): Ch-2.Mn-2

Cn-1.Mn-1
Cn.mn




